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On the Predicates Group for the Programming by the
Al Language Prolog

Isami YOSHIFUKU

In our laboratory, the application of Prolog language to chemical engineering problems has
been studied: the flowgraph making program by Prolog and the continuous system simulation pro-

gram by Prolog for process control problems.

Taking aim at the important role of predicates in the programming by Prolog, the author has
gathered predicates group for many years. In this report, predicate groups added in an appendix are
shown; these groups and their relation to programming by Prolog are studied.
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1. add_elm(E,L,R) -» RiZVJ XA FLOEEICE
EEZMAbDTH 5,

add_elm(E,L,[E | L]).

(eg) L=[1,2,3],E=50 & &12R=[5,1,2,3].
2. add_last(L1,A,L2) -» L2i&V A P L1D&K#&E
KEFAZEML/ZLDOTH S,
add_last(L1,A,L2):- append(L1,[A],L2).
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(eg> L1=[a,b,c], A=dD & %13 L2=[a,b,c,d].

add_lst1(N, L1, L2, L3) -> L3xY A +FL1®D
NEFHICURAML2EWALALDTH 5,
add_lst1(N, L1, L2, L3) : -
reverse (L2, L.22), add_lst1a(N, L1, L22, L3).
add_lstla (N, L1,L2,L3): -

L2=[H1|T1], insert (N, H1, L1, L4),
add_lst1a (N, L4, T1, L3).

add_lst1a(N, L1, [], L1).

{eg> L1=I[1,3,5,6,8,10], N=4, L2=[2, 6, 4]
D&

L3=[1,3,5,6, 2,6, 4,8, 10].

4. add_lIst2(L1,L2,L3) -> L3IV A ML1OE
BRICVAPL2EWALZDDTH S,
add_lst2 (L1, L2, L3) : -

L2=[H1| T1], add_last (L1, H1, LL),
add_lst 2 (LL, T1, L3).

{eg?> L1=[175,1,49,2,10],L2=[23, 101D & %X

L3=(175,1, 49, 2, 10, 23, 10].

5. add_sid1(L1, A, L2) -> L2 X FL1 O
M EZAZMEMLAZbDTH B,
add_sid 1 (L1, A, L2) : -
add_elm (A, L1, L11), add_last (L11, A, L2).
{eg> VAPL1=[3,5,6,8,10], A=23DL %It
L3=[23, 3, 5, 6, 8, 10, 23].

6. add_sid 2 (M1, M2, M3) -> M3 iZ3XF5 M1
ORI FEM2 2HFMLEZbDOTH B,
add_sid 2 (M1, M2, M3) : -
conv_2 (M1, L1), conv_2 (M2, L2), L2=[E22],

add_sid 1 (L1, E22, L3), conv_1 (L3, M3).
(eg> Ml=$%albl+cldl$, M2=$+$DL Xt
M3=+alb1l +cld1 +.

7. adj_elm (N1,N2,L) -> YA FPLT22oNE%
N1,N2iB#EL T3,
adj_elm (N1, N2, L) : - append (As, [N1, N2 |
Ysl, L).

Ceg> L=[1,2,3,4] TEFNI=2 N2=3 3t
LTwa,

8. append (Xs, Ys,Zs) -> VA Zsiz 220D
AFMXs, Ys@ELAYAMNCH B,
append ([], Ys, Ys).
append ([X | Xs], Ys, [X | Zs]) : -

append (Xs, Ys, Zs).
{eg> Xs=I[1,2,5,7], Ys=11, 15, 18] & %k

w

Zs=[1, 2,5,7, 11, 15, 18].
9. betwn_1(1,J,K) - >EEKIILIJOMIchh
i$true (MWL EL)o
betwn_1(I,J,I) : -1 ={J.
betwn_1(I,J,K) : -<{J,I1 is
I+1, betwn_1(I1, J, K).
egd 1=2,J=6D& X1 K=2,3,4,5,6.

10. betwn_2 (I, J, K) - >¥BKAEIEIJOBichn
W true (M#HZEEE %),
betwn_2 (I, J, K) : - 1<{J, K{J, K> 1.

{eg) 1=2,J=6M & %13 K=3,4,5 D& d true.

11. betwn_3 (L1, L2, L3) -> L3ix¥$ ) 2 pL1
DEFEIZOVWTL2=[LJIMICHZ b1 5HS
YAMTH5B,
betwn_3 (L1, L2, L3) : -

betwn_3 (L1, L2, [], L3).
betwn_3 (L1, L2, LL, L3) : -
L2=[1,J], L1=[F | T],
ifthene | se (betwn_2 (I, J, F), LS=
[F], Ls=I[]),
append (LL, LS, LT),
betwn_3 (T, L2, LT, L3).
betwn_3 ({], L2, L3, L3).
{eg> L1=[1,7,9,5,8, 10, 6, 11, 8], L2=[5, 10]
Dk %X L3=[7,9,8,86,8].

12. betwn_4 (L1,L2,E) -> EWZ¥ ¥V AML1D
BFREFZEIZDVTEREMIC L2=[L, JIHicH B bDT
Hb, WL EITZE=0¢T 5,
betwn_4(L1,L2,E) : - L2=[I,J],L1=[F | T],

ifthene | se (betwn_2 (I, J, F), E is F,
betwn_4 (T, L2, E).
betwn_4 ([], L2, 0).
{eg> L1=[1,9,5,10,6], L2=[5, 10]n & %t
E=9.

13. betwn_5 (L1, A, L2) -> L213¥H2E YV XA FL
1DEFETEMAZEZMELI TV TH 5,
betwn_5 (L1, A, L2) : -

L1=[H1| T1], H1=[1, J],
ifthene | se (betwn_2 (I, J, A), L2=[i, j],
betwn_5 (T1, A, L2).
{eg> L1=[[1,5], [5,9],[9,13]], A=10D & &
i* L2=[9, 13].

14. conv_1(L, M)->¥BUAPFLD2LIXFFI M~

DER,
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convl (L, M) : - name(A, L), atom_string (A,
M).

{egd L=[65, 47, 40, 84, 115, 43, 66, 411D & %
M=A/(Ts+B).

15. conv_2(M, L) -> XFFM»HI— FJA ML
~NOE,
conv_2(M, L) : - atom_string (A, M),

name(A, L).
(egd M=A/(Ts+B)D & &iXL=[65, 47, 40, 84,
115, 43, 66, 41].

16. conv_3(L1,L2) -> ¥ 2E VA L1252
EXF) A b L2NOEH,
conv_3(L1,L2): - conv_3 (L1, [], L2).
conv_3(L1,LL, L2) : - L1=[H1 | T1],

conv_1(H1,M1), append (LL, [M1],LT),
conv_3(T1, LT, L2).
conv_3 ([], L2, L2).
Ceg> L=[[40,97,43,98,41], [40,99,43,100,41]]
Dk &3L2=[(a+Db), (c+d)].

17. conv_4(L1,L2) -> XFV A ML1»H2EER
) R b L2NOER,
conv_4(L1,L2) : - conv_4(L1, [], L2).
conv_4(L1,LL, L2) : - L1=[H1 | T1],

conv_2(H1, M1), append(LL, [M1], LT),
conv_4(T1, LT, L2).
conv_4([], L2, L2).
(egd L=[(a+b), (c+b)In & &ixL2=[[40, 97,
43,98, 411, [40, 99, 43, 100, 41]].

18. dbl dbl1(L1,L2,L3) -> L3ix2&EY A PL1
ALY RAPML2ZELEVIEBOEND2EY R b
Thb,
dbl_dbl1([[1], L2, [[1]).
dbl_dbl1 (L1, [], L1).
dbl dbl1 (L1, L2, L3) : - asserta (f(mark)),

member (E1, L1), 1st_sub3 (L2, E1), X=El,
asserta (f (X)), fail.
dbl_dbl1 (L1, L2, L3) : - collect ([], L3).
Cegd L1=[[49, 46], [48, 2], (1, 49, 46, 50],
[52,49,111, L2=[49, 46]» & &3 L3=[[49, 46],
[1, 49, 46, 50]11.

19. dbl dbl12(L1,L2) -» L2132&EV A PLI»H
FHFED2REIANTHD, LAOERILINE
FEOWMBEEBEVZD D,
dbl_dbl2(L1, L2) : - length (L1, N1),

dbl_dbl2(L1, L2, N1).
dbl_dbl2(L1, L2, 0).
dbl_dbl2(L1, L2, N) : - L1=[H1 | T1],
del_sid1(H1, H2),
exchg_3(L1, 1, H2, L11),
rotate (1, L11, L12),
N1is N-1,
dbl_dbl 2 (L12, L2, N1).
Ceg) L1=[[43,97, 49, 43], [43, 98, 49, 43], [43,
99, 49, 4311 & %13 L2=[[97, 491, [98, 49], [99,
4911.

20. dbl_sigl(L1,L2) -> 2EVY R b L1258 EFE
NE1EFEEDH) R ML 2 DB
dbl_sig 1 (L1, L2):- dbl_sig1 (L1, 1, L2).
dbl_sig 1 ([], L2, L2).
dbl_sig1 (L1, LL, L2) : -

L1=[H1| T1], H1=[A, B],
append (LL, [A], LT),
dbl_sig 1 (T1, LT, L2).
Ceg) L1=[[175,1], 49, 2], [47, 3], [41, 4], [52,
5], [58,6]1m & %13 L2=[175, 49, 47, 41, 52, 53].

21. dbl_sig2 (L1, L2) -» BH2EYAMLINSSE
A& ) A PL2OER, 72/ LLIDEELE %43
(+/ ASCIIE) THEET S,
dbl_sig 2 (L1, L2) : - dbl_sig2 (L1, (1, L2),

del_last (112, L2).
dbl_sig 2 (L1, LL, L2) : - L1=(Hl, T],
add_last (H1, 43, L11), append (LL, L11, LT),
dbl_sig 2 (T1, LT, L2).
(eg» L1=[[107, 49, 165, 115], [107, 50, 165, 115],
[108,49,165,115]]m & Zi13L2= [107, 49,165,115,
43, 107, 50, 165, 115, 43, 108, 49, 165, 115].

22. dbl _tril (L1, L2, L3) -> 2E®H2E) A MLI,
L2A53%EY A FL3DERK, 727 L L1, L2DE
EEPRLDLIDEEET S,
dbl tril(L1, L2, L3):- dbl_tril(L1, L2, [1,L3).
dbl_tril(L1, L2, LL, L3) : -

L1=[H1, T], L2=[H2 | T2],
ifthenels (H1 ¥== H2, append
(LL, [H1, H2]], L),
append (LL, [], LT)),
dbl_tril (T1, T2, L3, L3).
dbl_tri1((], [], L3, L3).
(eg> L1=[[1,20,35], (40,917,201, [15,26], [25,
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14], [18,201], L2=[[1, 20, 351, [97,25], [15,26],
(25, 151, (17, 20]]1 & & 13 L3=[[40, 97, 20], [97,
2511, [[25, 14], [25, 1517, [[18, 201, [17, 2011].

23. del_blk(L1,L2) -> L2ix2E"Y R FL1 D&%
DEEN[ILOLINERVBDTHE, Thri
LEnEFLT 5,
del_blk ([[1], [[1]).
del_blk (L1, L2) : - last (L1, A),
ifthenelse (A=[], del_last (L1, L2), L2=L1).
Ceg> L1=[[1,2,3],[5,6,1], [J1m& &t
L2=[[1, 2, 3], (5, 6, 1]]

24. del elm1(X,L,Xs)-2Y A ;Xsld) X FLOD
POEEXE—DLEFHIBRLZBYDYR TS,
del_elm 1 (X, [X | Xs], Xs).
del elm 1 (X, [Y | Ys],[Y | Zs]): -

del_elm (X, Ys, Zs).
(eg> L=I[1,2,8,4], X=10%& & 3Xs=[2, 3, 4].

25. del elm2(L1,N1,L2)->L2iE Y XA FL1A 5
N1EZEBOEZREBRELLLDOTH S,
del_elm 2 (L1, N1, L2) : - length (L1, NN),

ifthenelse (N1)1,

rotate (N1-1, L1, L.2), L2=L1),

L2=[H1| T1], Nr is NN-N1,

rotate (Nr, T1, L2).
{eg> L1=[1, 20, 3, 15, 30, 5, 10, 24], N1=3® &
i3 L2=[1, 20, 15, 30, 5, 10, 24]

26. del_elm3 (L1, X, L2)->Y A PL2ix"Y A FL1
DFDIEHLVEERL-EZX L THKR L7
BROYDIVA+TH5,
del elm 3 ([X | LL], X, L2) : -

del_elm 3 (LL, X, L2).
del elm3([X | LL], Z, [X|L2]):- X ¥=7Z,
del_elm 3 (LL, Z, L2).
del_elm 3 ([], X, [1).
Ceg) VAIML=I[1,2,31,4],X=1Dk &}
Xs=[2, 3, 4].

27. del last(L1,L2)-> VA FL1 2 LBROEE
EBRELRZY A ML 2 OER.
del_last (L1, L2) : - length (L1, NN),

rotate (NN-1, L1, LL), LL=[H1 | L2].
Ceg)> L1=[1,2,3,1, 4]0t & i¥L2=[1,2,3,1].

28. del 1st1(L1,L2,L3)->L3IxY A FL1AHE
SVRAML2RBELZODTH L, 127 LL2A%E
HiZHoh, LIOEENFLTRL TV AL,

del_Ist1 (L1, L2, L3) : - L2=[H1 | T1],

select (H1, L1, L4), del_lst 1 (L4, T1, L3).
del_lst1 (L1, [], L1).
Ceg> L1=[1,3,5,86, 8, 10, 54, 14, 6], L2=[6, 8,
10,54 & Z1x L3=[1, 3, 5, 14, 6].

29. del_Ist2 (L1, N1, L2,N2,LL) -> LLiZV) R b
L1»o—HEDBF VA ML2EBRELALDOT
Hd,
del_lst 2 (L1, N1, L2, N2, LL) : -

numl_lst (L1, L2, Nm), Nr is Nm-1,
rotate (Nr, L1, L3), del_Ist (L3, L2, L4),
Nt is N1-N2-Nr, rotate (Nt, 14, LL).
del_Ist2 (L1, N1, L2, N2, LL) : -
write ("not exist).
eg> L1=[1,3,5,6,2,6,4,8,10,25], L2=[6,
2,6,4lnEk &3 L3 =[1,3,5,8, 10, 25].

30. del I1st3(L1,N1,L2)->LLIEV A PL126%
HONBEOEFZRLBRELZODTH B,
del_1st3 (L1,0, M) : - M=L1.
del_lst 3 (L1, N, M) : - L1=[HI|T1], N1 is N-1,

del_lIst 3 (T1, N1, M).
{eg> L1=[1,3,5,5,10,9,3,4,1], N=6 D & X
L2=(3,4,1].

3l. del_lst4(L1,L2, LL)->LL{EY XA FL1H 5
HTVAPL2RETRELZLDTH S,
del lst4(L1,L2,LL) : - del_lst4 (L1,L2, LL,0).
del_lst4 (L1, L2, LL,1) : -

del_lIst2 (L1, L2, L3, Nm),
11is 1+1, del_1st4 (L3, L2, LL, 11).
{eg? L1=(6,2,6,4,8,2,6,4,25,2,6,4,2],
L2=(2,6,4]n & &I1ZLL=IS6, 8, 25, 2.
32. del_Ist5(L1,L2,1L3)->L3I1X2EY A FL1»
CERL2EBRELLLDTH B,
del_lst5 (L1, L2, L3) : -
del_Ist5 (L1, L2, [1, L3).
del_lst5([], L2, L3, L3).
del 1st5 (L1, L2, LL, L3) : - L1=[H1]| T1],
ifthenelse(LS=[], LT=LL,
append(LL, [LS], LT)),
del_lst5 (T1, L2, LT, L3).
(eg> L1=[[1, 3, 5], [2, 10], [6, 4, 8, 211,
L2=[2,10]m & &i3L3=[[1, 3, 5], [6, 4, 8, 2]].

33. del_lst6(L1,L2,L3)->L3x2&EY X L1

POV T2EVAMNL2ZBRELADDOTH S,
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del_lst 6 (L1, L2, L3) : - L2=[H1 | T1],
del_1st5(L1, H1, L31], del_lst6 (131, T1, L3).

Ceg> L1=[[1,3,5],[2,10], [6,4,8,2], [5,11],

L2=[[2,10], (5,111 & &

L3=[[1, 3, 5], [6, 4, 8, 2]]

34. del_sid1(L1,L2)->L2IZV A PLIDERA &
BROEEZBRELLDIOTH S,
dil_sed 1 (L1, L2):- L1=[H1 | T1],

dil_sed 1 (T1, [], L2).
del sid1 (L1, LL,L2) : -
L1=[H1 | T1], LS=[H1],
append (LL, LS, LT), del_sid1(T1, LT, L2).
del_sid 1 ([A], L2, L2).
Cegd VAIL1=[1,2,3,4,5]0% &
L2=[2,3,4].

35. dif_lst (L1, L2) >E¥VAIMNLIDKEEENE
2EFLT5HY A ML2OER,
dif 1st (L1, L2) : - length(L1, N),

dif_lIst (N, L1, [], L2).
dif 1st (1, _, L2, L2).
dif 1st (N, L1, LL, L2) : -
L1=[H1|T1], T1=[H2 | T2],
A is H2-H1, N1 is N-1, append (LL, [A], LT),
dif 1st (N1, T1, LT, L2).
{eg> L1=[1,12,28,35,54], N=5nL &t
L2=[11, 16, 7, 19].

36. exchg_1(L1,N,L2)->YAPMFL2IEYVALILI
ONFHOERII DV THIHERRLZ-DDTH
%,
exchg_1(L1,N,L2): -

sampling (N, L1, A), N1 is N-1,
lst_sub1 (L1, N1, L3, LL),
L3=[HIT1], T2=[A|LL],
append (T1, T2, L2).
{eg> L1=[2,8,10,6,25,649,43], N=4D & & i
ZDEFII6T,
L2=[25,49, 43,6, 2, 8,10].

37. exchg_2(L1,N, A,L2)->L2i3Y)V A FL1DO%
NEHOEFELX VA PALRBRLALDOTH S,
exchg_2(L1,N, A, L2) : -

del_elm 2 (L1, N, L11),

ins_elm 1 (L11, N, A, L12), flatten (L12, L2).
{eg> L1=[1,7,9,5,8,10,6,11,8], N=2, A=
[9,9,9l & &5 L2=101,9,9,99,5,8,10,6,

11, 8].

38. exchg_3(L1,L2,LL) -> EXIFEHELAY X
FL1AH2EYAML2EHAWTY X PLL%EE
Bt 5,
exchg_3(L1,L2,LL): -

length (L1, N), L2=[L21 | [A1]],

length (L21, N2),

exchg_3b (L1, L21, A, N21, LL, N1).
exchg_3b (LL, L21, A, N21, LL, 0).
exchg_3b (LL, L21, A, N21, LL,1) : -

Li=[H1| T1],
ifthenelse (H1=A,

exchg_3b (T1, L21, N21, L3),
rotate (1, L1, L3), 11 is 1-1,
exchg_ 3b (L3, L21, A, N21, LL, 11).
exchg_3b(T1, L21, NL1,L3) : -
append(L21, T1, L31), rotate(NL1, L31, L3).
(eg> L1=[1,5,7,9,5,8], L2=[[1, 2, 3], [5]]
nLxixLL=(1,1,2,3,7,9,1,2,3,8].

39. exchg_4(L1,L2,LL) -> BEENFEHLAV X
FL1IA»SH2EY A ML2 #FHVTY A FLLEEK
T5,
exchg_4(L1,L2,LL) : - L2=[B, A],

length (L1, N1), length (A, NA),

exchg_4c (L1, B, A, NB, LL, N1).
exchg_4c¢(LL, B, A, NB, LL, 0).
exchg_4c¢(L1,B, A, NB,LL,1) : -

Li=[H1| T1],
length (A, NA), Ist_div5 (L1, NA, H1, T2),
ifthenelse (H1=A, exchg_4c(T2, B, NB, L3),

11 is 1-NA, (rotate (1, L1, L3), 11 is 1-1)),
exchg_4c¢ (L3, B, A, NB, LL, 11).
exchg_4c¢ (T2, B,NL1,L3) : -
append (B, T2, L31), rotate(NL1, L31, L3).
{eg> L1=[98, 165, 122, 49, 110, 43, 100, 122, 49,
110, 47, 100, 116], L2=[[120, 49], [122, 49, 110]]
» L %13 LL =[98, 165, 120, 49, 43, 100, 120, 49,
47, 100, 116].

40. exchg_5(L1, L2, LL) ->EXZH,HEHEL/ZY A}
L1»53EE)VAML2EHAWTY XA FLLEES,
exchg_5(L1, L2, L3, LL) : - L2=[H1 | T1],

exchg_3(L1,H1,LL1), exchg_5(LL1,T1,LL).
(eg)> L1=[98,165, 100, 121, 47, 100, 116, 43, 122,
61, 97, 165, 120], L 2 =[[[120, 49], [120]], ((121,
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501, [1211], [[107, 49], [971], [(107, 501, [98]]]
» & &% LL =[107, 50, 165, 100, 121, 50, 47, 100,
116, 43, 122, 61, 107, 49, 165, 120, 49]

41. exchg_6 (L1, L2,LL) -> EEMXEHHLLY) R
FLI»H3EY A ML2#HAWTYRAMLLZES,
exchg_6 (L1, L2,LL) : - L2=[H1| T1],

exchg_4(L1, H1, LL1), exchg_6(LL1, T1, LL).
{eg> L1=[3,6,1,5,7,9,5,1,8,3,86,10,5,7,
11,9, 8, 5], L2=[[[1, 2, 3], [5, 711, [ (50, 401, [3,
611, (10, 20, 301, [8, 5111 & & & LL=[50, 40,
1,1,2,8,9,1, 2,3, 8, 50, 40, 10, 1, 2, 3, 11, 10, 20,
30]

42. flatten (Xs, Ys) -> Ysid) A M Xs% Fi{LL
2bDTH5B,
flatten ([X | Xs], Ys3) : - flatten (X, Ysl),

flatten (Xs, Ys2), append (Ysl, Ys2, Ys3).
flatten (X, [X]) : - atomic (X), X ¥=[].
flatten ([1, [1).

{eg> Xs=[h,[i,j], a, [b, [c, d], e], [f,g]] @
& &i3Ys=I[h,i,j,a,b,c,d,e,f gl

43. fnd_lIst (L1, L2, N) -> Nix"V A FL 1 OEEH»
SEENY FERYBRWALY R L2280 Y 7
VANPENEPZOEBTHS,
fnd_lst (L1, L2, Nm) : -

fnd_lst (L1, L2,1,1, Nn), Nm is Nn-1.
fnd_lst (L1, L2,0, _, Nm).
fnd_lIst (L1, L2, 1, Nr, Nm) : -

iftthenelse(append(L2, L3, L1), No=0, No=1),

L1=[H1| T1], Ns is Nr+1,

ifthenelse(No=1, fnd_Ist(T1, L2, No, Ns, Nm),

Nm is Nm-1).

{eg> L1=[1,3,5,6,2,6,4,8,10],L2=[2,6,
4,8]M & %iZNm=4.

44, func_1(L1,L2) -> L2 3EK)VAML1IDEE
RV L THIEBEERLZH LI X FTH
5,
func_1(L1,L2) : - func_1(L1, L2, []).
func_1([A | R], H, T):-

func (A, H, M), func_1 (R, M, T).
func_1 (A, [BI D], D) : - func (A, B).
func (A, B) : - B is 2% A,

{eg> YA IML1=[1,2,3,4,5]8EXZ 2L
YR MIL2=[24,6,8,10].
45. ins_elm1(N,E,L1,L2)->L2 Y A bPL1Z

DEEPONFHIZEZEEXHALLDNOTH S,
ins_elm1(0,E,L,[E|L]):-!.

ins_elm1(_, E,[],[E]) : - I

ins_elm 1 (N, E, [HIT], [HI R]) : - N1is N-1,
ins_elm 1 (N1, E, T, R).

(eg> L1=[1,3,5,8,4],N=3, E=10D & & (%
L2=[1,3,5, 10,8, 4].

46. ins_elm 2(L1, A, L2)->L2XV A FL1 DT
RTCOEZEMIZERZARTFALIZLDTH A,
ins_elm 2 (L1, A, L2) : - length(L1, N2), NL is

N2+N2-1,ins_elm 2 (NL, 1, L1, , A, , L2).
ins_elm 2 (NL, N, L2, A, L2) : - NL (= N.
ins_elm 2 (NL, N, L1, A, L2) : -
ins_elm 1 (N, A, L1, L11), N1is N+2,

ins_elm 2 (NL, N1, L11, A, L2).
(eg) L1=[5,8,4,8,9], A=30% %i3
L2=[5, 3,8, 3,4, 3,8, 3, 9].

47. ins_last (A, L1,L2) -2 L2 XY XA FL1DE#E
CERARBALLLDTH S,
ins_last (X, [1, [X]).
ins_last (X, [F|R],[F18]): -

ins_last (X, R, S).

(eg> Ll=[a,b,c], A=d® & %i3L2=[a,b,c,d].

48. ins_Ist (L1,L2, A, L3)->L3 &Y A PL1
LTHEBVAPMNL2OBEBDL ZAIZEEARIEA
L7bDTH5bB,
ins_lst (L1,L2,A,L3) : - L2=[N|T], N1is N-1,

ins_elm 1 (N1, A, L1, LL),

ins_lst (LL, T, A, L3).
ins_lIst (L3, (1, A, L3).

{eg> L1=[10, 20, 30, 40, 50], L2=[1, 4, 9], A=
997 & %1 L3=[99, 10, 20, 99, 30, 40, 50, 60, 99]
49. intsect (L1, L2,L3)->L3k2ME» Y A FL1,

L2O#BEE,SLZBIR T
intsect (L1, L2, L3) : - intsect(L1, L2, [], L3).
intsect ([], L2, L3, L3).
intsect (L1, L2, LL, L3) : - L1=[H1| T1],
ifthenslse
(member (H1, L2), LS=[H1],LS=[]),
append (LL, LS, LT),

intsect (T1, L2, LT, L3).

{eg> Ll=[a,b,c,d], L2=[e,f,c, g, d]D& &
L3 =[c,dl.
50. last (L, X)->Xi3V) XA FLOBREFZTH 5,
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last ([X], X).
last ([F | R], X) : - last (R, X).
(eg> L=[a,b,clD&&izX=c.

51. Ist_div1 (L1, L2, LL1, LL2) -» LL1, LL2 i
YA FL1%ZXMY A FL2 TANERIZOWTHE
L2fD) R FThbB,

Ist_div1 (L1, L2, LL1, LL2) : -
Ist_div1 (L1, L2, (], (], LL1, LL2).
Ist_div1 (L1, L2, L01, LL1, LL2) : -
L1=[H | T], L2=(11, 12],
ifthenelse((H)11, H(12), LS=[H],LT=[H]),
ifthenelse(LS=[], L11=L01,
append(L01, LS, L11)),
ifthenelse(LY =[], L12=102,
append(L02, LT, L12)),
Ist_div1 (T, L2, L11, L12, LL1, LL2).
(egd> L1=[1,3,8,6,13,5,11, 10,16, 22,12], L
2=[512]n& &t
LL1=[8,6,11,10], L1L2=[1,3,13,5, 16, 22, 12].

52. Ist_div2 (L1, N, LL1, LL2) -» LL1,LL2 X
¥H) A ML %525 ENTRAERICONTHE
L72bnTH5,

Ist_divl ([X | Xs], N, [X | Ls], Bs) : -X=(Y,
Ist_div 2 (Xs, N, Ls, Bs).

Ist_divl ([X | Xs], N, Ls, [X | Bs]) : -XDN,
1st_div 2 (Xs, N, Ls, Bs).

Ist_div2 ([1, N, [1, [D).

(eg> L1=[1,12,35,3,5,6,8,10,26], N=10 D

L %i3LL1=(1, 3, 5, 6, 8, 10], LL2=[12, 35, 26].

53. Ist_div3 (L1, A, L2,L3) -> L2,L3ix) A FL
1% HIEFATEORZICAHL 26D TH 2,
1st_div3 (L1,A,L2,L3) : -lst_ num(L1, A, NA),

N1is NA-1, Ist_sub 1 (L1, N1, L33, L2),
L33=[H | L3].

(eg> L1=[1,12, 35,3, 38,5, 6, 8, 10, 26], A=38
k%13 1L2=[1, 12, 35, 3], L3=[5, 6, 8, 10, 26].
54. lst_div4 (L1, A,B,LL) -> LLiZV X FL1®

2ENEHA, BHICHIERDI A M TH 5B,
1st_div4 (L1, A,B,LL) : -
Ist_div3 (L1, A, L2, L3),
Ist_div 3 (L3, B, LL, L5).
{(eg> L1=[100, 122, 49, 110, 47, 100, 116, 61, 40,
114], A=100, B=4770 & % iZLL=[122, 49, 110].
55. lst_div5 (L1, N,L2,L3)->L2EYV A PL1 D

EFE,IONER-ZEEND YA P ThHD, L3R
DY AT,
1st_div5(L1, N, L2, L3) : -div5(L1, N, [], L2),
append (L2, L3, L1).
div5 (L1, 0, L2, L2).
div5 (L1, N, LL, L2) : - L1=[H1| T1],
append (LL, [H1], LS), N1 is N-1,
div5 (T1, N1, LS, L2).
(eg) L1=[20,4,3,1,2,3,4,5,6,7], N=4n L &id
L2=[20, 4, 3, 1], L3=[2, 3, 4,5, 6, 7].

56. 1st_div6 (L1, A,L2)-> VA ML1T, HHE
FEHNEHEL TR L EZOERTHIIIOWTHE
LA2EYAML2 %1%,
1st_div 6 (L1, A, L2) : - length (L1, NO),
Ist_mk 6a (L1, A, L11), N11 is NO+1,
add_last (L11, N11, L12), div5 (L1, N, (], L2),
append (L2, L3, L1), L13=[0 | L12],

dif 1st (L13, L14), LL1=[0 | L1],

div6 (LL1, L14, L2).
divé (L1, LL, LS, L2) : -

L1=[L0 | LL1], LL=[H1| T1],

Ist_div 5 (LL1, H1, L14, L15),

append (LS, [L14], LT, L2).
Ceg> L1=[1,12,35, 3, 38, 5, 6, 8, 10, 26, 38, 12,
45, 38,101, A=38, m & &ix L2 =[[1, 12, 35, 3],
(5,6, 8, 10, 261, [12, 45], [10]].

57. lst_num (L1, A, NA) ->NAIZV) A L1 DOH
TEZADEFESTH 5,

Ist num(L1,A,NA) : - Ist_num(L1, 1, A, NA).

lst_num(L1, N, A, NA) : -L1=[Y | T],
ifthenelse(N=Y, NA is N, (N1 is N+1,
lst_num(T, N1, A, NA))).

Ist_num({], N, A, 0).

(eg> L1=[40, 84, 6, 70, 115, 43, 66, 41, 43, 65],

A=115D & ¥ IINA=5.

58. 1st_sub1 (L1, N, L3,L2)->L2, L3 i) A ML
1DEFEONBEOER, LBV AMERYD ) R
FTCH B,
lst_sub1 (L1, N, L2, L3) : -
del_Ist3 (L1, N, L2), append(L3, L2, L1).

{eg> L1=[1,3,5,5,10,9,3,4,1], N=3m & &ix
L2=[1, 3, 5], L3=[5, 10, 9, 3, 4, 1] ‘

59. lst_sub 2 (L1, N1, N2, LL)-»LLit" X FL1

ON1ZEDPON2BHE COEENLLRBVAMT
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H5b,

Ist_sub 2 (L1, N1, N2, LL) : - N11 is N1-1,

Ist_sub1 (L1, N11, L2), N3 is N2-Nl1,
Ist_sub1 (L2, N3, LL).

{eg> L1=[1,3,5,5,10,9,3,4,1], N1=2,

N2=3m& &ix LL=[3, 5]

60. Ist_sub3(L1,L2)-> VA FL2HAY A FLLD

BT R PNTHEIED.
Ist_sub 3 (L1, L2) : - prefix(LS, L2),
suffix (L1, LS). .
{eg> L2=[3,8,9]ixL1=[1, 14, 6, 12, 22, 3, 8, 9,
BIDYTIRTCH B,

61. Ist_sub4 (L1,N,R,L2)->L2ixY X FL1 %R
EEE L CTEELONBOEEN) XA FTh b,
Ist_sub4 (L1,N, R, L2) : -

Ist_sub1 (L1, N, _, L11),

rotate (R, L1, L12), Ist_sub1 (L12, N, _, L2).
{eg> L1=[10, 20, 30, 40, 50, 60], R=3, N=4 @
& %13 L2=[40, 50, 60, 10].

62. map_01(L1, L2)->L2 i3¥% ) R FL1 251
L7V AMTH 5B,

ERgizg(X)h61, Thwib0Etts,
map_01 ([], [1).
map_01 ([H|TI, [VIR]) :-f(H, V),

map_01 (T, R).
f(X,1):- g(xX), .
f(X,0).

Cegd L1=[97, 43, 47, 40, 98, 49, 43], g(X) ¥ X =
3% 61, TZRwZHL0ET A, ZDE EL2=(0,
1,0,0,0,0,1]

63. max_num (L1, Max, No)-> V" XA FL1DEF
TRANDSDMax L ZDEFNo kKD 5B,
max_num (L1, Max, No) : -
max 2 (L1, Max), member (Max, L1, No).
max 2 ([], error).
max 2 ([X],X):- 1.
max 2 ([H | L], Max) : -
max 2 (L, M), (H)M, Max is H;Max is M), !.
{eg> L1=[1,3,5,6,8,10,5,6]N L X idmax=
10, No=6.

64. member (E,L)->Eiz) A FLOEETH 5,
member (X, [X | T]).
member (X, [Y | T]) : - member (X, T).
(eg) E=1i3VRAML1=(2,1,3]NEETH 5,

65. mk_1st1(L1,N,L2)->L2x") A FL1 DEE
TNEDVKREVDLODLEAEY R TH B,
mk_Ist1(L1,N,L2) : - mk_lst1 (L1,N, [], L2).
mk_1st1([], N, L2, L2).
mk_Ist1(L1, L2, LL, L3) : - L1=[H1 | T1],

ifthenslse (HIDN, LS=[H1], LS=([]),

append (LL,LS,LT), mk_Ist 1 (T1,N,LT,L2).
Ceg> L1=[1,14,6,12,22,3,8,9,15], N=10 ®»
E&IXL2=[14,12 22, 15].

66. mk_Ist2 (L1, N1,N2,L2)->L2iX2&EY X b
LIONIHEH»SLN2 I TCOEL1EEILL LB Y X
FTH 2B,
mk_lst 2 (L1, N1, N2, L2) : -
mk_lst 2 (L1, N1, N2, , [], L2).
mk_lIst 2 ([], N1, N2, L2, L2).
mk_Ist 2 (L1,N1,N2,LL,L2) : -L1=[H1 | T1],

H1=[NA,I11], ifthenslse ((11)=N1,11={(N2),
LS=[NA], LS(]), append (LL, LS, LT),
mk_lIst 2 (T1, N1, N2, LT, L2).
eg> 2E YV X + L1=[[75,1], [49, 2], [47, 3],
[41, 41, [52, 51, [53, 6]], N1=2, N2=50D & & i
L2=[49, 47, 41, 52].
67. mk_Ist3 (L1, NA, L2)->L232EY X FL1®D
BLIEEZNNATHLLDODDELEENLR B Y R
FTH 2,
mk_lst3 (L1, NA, L2) : -
mk_1st 3 (L1, NA, [], L2).
mk_1st 3 ([], NA, L2, L2).
mk_Ist3 (L1, NA, LL, L2) : -
L1=[H1| T1], H1=[11, 1B],
append (LL, LS, LT),
mk_Ist3 (T1, NA, LT, L2).
Ceg> L1=[[75,1], [49, 2], [47, 3], [49, 4], [52,
51, [49, 611, NA=49m & %13L2=[2, 4, 6].

68. mk_lIst4 (L1, L2, L3)->L3 3KV A L1 D
EXCL2ORMICHIEEZIL LB VR MNTH B,
mk_1st4 (L1, L2, L3) : -

mk_lIst4 (L1, L2, [1, L3)
mk_1st4 ([], L2, L3, L3).
mk_lIst4 (L1, L2, LL, L3) : -

L1=[H1| T1], L2=[11, 12],
ifthenelse ((H1)11,H1K12),LS=[H1],LS=[]),
append (LL,LS,LT), mk_Ist4 (T1,L.2,LT, L3).

Ceg> L1=[3,10, 12,14, 15,17, 18, 19, 20], L2=
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[12,17]®» & &1 L3 =[14, 15].

69. mk_lst5 (L1, L2, L3) -> L3 & F LEH» 2 @
DY AMLL L2DHERDEREYETVAMTHS,
mk_lst5 (L1, L2, L3) : -

mk_lst 5 (L1, L2, [], L3)
mk_lIst 5 ([], L2, L3, L3).
mk_lst5 (L1, L2, LL, L3) : -
L1=[H1 | T1], L2=[H2 | T2],
1is H1-H2, LS=[1], LS=[]),
append (LL, LS, LT),
mk_lIst 5 (T1, T2, LT, L3).
eg> L1=[1,3,4,6,7],L2=[1,2,4,58]n&
%3 L3=[0,1,0,1, -1].

70. mk_lst6 (L1, A, L2)-> L2 ZEBWL - EFE%*#HF
DYAILIIZOWT, HHEHERZAOEFT Y R
FCH B,
mk_Ist6 (L1, A, L2) : -
sig_dbl1 (L1, LL), mk_Ist 3 (LL, A, L2).

(eg> L1=[1,2,8,5,1,2,3,2,4,2,2], A=20 L
%13 L2=[2,6,8, 10, 11]

71. mk_lst7 (L1, N, L2)->L2x2&"Y X L1 %
LEUEDEDVAINTH D, FHIZL2OEFE=L1
DE1EF+(F5-1)*N
mk_lIst 7 (L1, N, L2) : -

L0=L1, mk_lst 7 (L0, L1, N, (], L2).
mk_lst 7 (L0, [1, N, L2, L2).
mk_1st 7 (LO,L1, N, LL, L2) : - L1=[H1 | T1],
Ist_num (L0, H1, Nm),
Aisll+(Nm-1)*N, LS=[A],
append (LL, LS, LT),
mk_lst 7 (LO, T1, N, LT, L2).
{eg> L1=[[1,1],[8,2],16,3],[9,4]1], N=2 D
L&z L2 =(1, 5,10, 15].

72. mk_lst8 (L1, L2, L3)->L3 1Y A FL1IZDW
T2EVAMNL2OREHE2EENSLDVAMT
Hb,
mk_lst 8 (L1, L2, L3) : -

mk_lst 8 (L1, L2, [], L3).
mk_Ist 8 (L1, [], L3, L3).
mk_lst 8 (L1, L2, LL, L3) : - L2=[H2 | T2],
Ist_div1 (L1, H2, LS, LSS),
append (LL, LS, LT),
mk_lst8 (L1, T2, LT, L3).
{eg> L1=[6, 13,16, 22, 26, 28, 3040], L.2 =[[1,

151, [17, 251, [26, 31]11? & &ixL3=[6, 13, 22, 28,
30].

73. no_dobl (Xs, Ys)-> VA FYs itV R FXs 2
SCEBELAEZYBWALNAMTHS,
no_dobl ([X | Xs], Ys) : -

member (X{Xs), no_dobl (Xs, Ys).
no_dobl ([X | Xs], [X | Ys]) : -
nonmember (X, Xs), no_dobl(Xs, Ys).
no_dobl ([1, [1).
(eg? Xs=[a,b,c, blD& &ikYs=[a,b,c].

74. num_lst (N1, N2, L1) -> L1 {2 2 O EHNI,
N2HDEBEZERLTHIARAINTH B,
num_lst (N1, N2, LL) : - N3 is N2+1,

num_lst ([], N1, LL, N3).
num_lst (LL, NN, LL, NN).
num_lst (LL, N1, LS, NN) : -
append(LL, [N1], L2),
N2 is N1+1, num_lst (L2, N2, LS, NN).
{eg> N1=55, N2=62m & &I
L1 =[55, 56, 57, 58, 59, 60, 61, 62].

75. ordered (X)-> %% X b XIZAIBIZNEF TV
LNTWBED,
ordered ([X]).
ordered ([X, Y | Ys]) : -

X=(Y, ordered ([Y | Ys]).
Cegd> L1=I[1,3,5,8, 9i3RIETH 5,

76. pair_lIst (L1, L2, L3)->L3x2M@» ) 2 +L1,
L2 RBEEDORTEREELTH2EV A M ThHA,
pair_lst (L1, L2, L3) : -
pair_lst (L1, L2, [1, GG1), reverse (GG1, G1).
pair_lIst ([], [], G1, G1).
pair_lst (L1, L2, B, GG) : -

L1=[H1|T1], L2=[H2 | T2], E1=[H1, H2],

car_cdr (G1,E1,B), pair_lst (T1,72,G1,GG).
{eg> L1=[0,1,2,38],L2=[6,7,8,9]m & &ix
L3=[[0, 6], [1, 7], [2, 8], [3, 911.

71. prefix (L1, LL)-> )V A FPL1&E Y A PLL O
EETH 5,
prefix ([], Ys).
prefix ([X | Xs], [X | Ys]) : -

prefix (Xs, Ys).
{eg> Ll=[a, bliZV A FLL=[a, b, c]D#EE
Th5b,
78. prep_1(L1, Al, A2)->A2i3 A L1TH 53
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BEALD—>FHOEHETHSD, A1DL1DEE
BEEORIIA2=0LT 5,
prep_1(L1, A1, A2) : - 1st_num (L1, Al, N1),
NN is N1-1, sampling (NN, L1, A2).
prep_1(L1,1,0).
{eg> L1=[1,4,11,15,20,25 A1=2000 & X%
A2=15.
79. prt_n (L, N)->"V) A PLOEZE 2 LEHL>HNAE
FEHT,
prt_n (L, N) : - ctr_set (0, 0),
NN is N-1, repeat, ctr_inc (0, C),
[! rotate (C, L, L2), L2 =[H1, T1],
write ("H1="), write (H1), nl !], c=:=NN.
{eg> Ll=[a,b,c,d,el, N=3D& &ita,b,c.
80. prt_lst(L)-> VA FNLOEEZLE)I S LEHH
s,
prt_lst ([]).
prt_lst (L) : -L=[H | T],
write (H), nl, prt_lst (T).
eg> L=[1,2,3,4lnk %ix1 2 3 4.
81. g_sort(L1,L2)->L2 3¥EHIVAILIEZ YV —
FLAZbDTH B,
q_sort (L1, L2) : - q_sort (L1, L2, []).
g_sort ([F | R], L2, M) : - split (F, R, L, G),
q_sort (L, L2, [F | U], q_sort (G, U, M).
g_sort ([], X, X).
split (_, [1, []).
split (N, [F IR], [FIL1],G): -
N>Fsplit (N, R, L1, G).
split (N, [F I R],L,[FIG1]) : -
N(F, split (N, R, L, G1).
(eg> L1=[4,3,6,1,2,5]n¢& %
L2=(1,2,3,4,5,6].
82. range_1(M, N, Ns)->Ns Z¥EMENZ ST
XEOEERND) A P ThHb,
range_1(M, N, [M | Ns]) : -
M(N, M1 is M+1,
range_1 (M1, N, Ns).
range_1 (N, N, [N]).
{eg) M=55 N=62Mm & %i
Ns=[55, 56, 57, 58, 59, 60, 61, 62].
83. repla_1(L1,N, A, L2)->L2iZV A FL1DE
NEHOEZ 2 MOERATEERIIDOTHS,
repla_1([CI L], 1, A, [AILD.

repla_1([CIL], N, A, [C|LL]) : - N1is N-1,
repla_1 (L, N1, A, LL).

{eg> Ll=[a,b,c,d,e]l, N=4, A=k D& %3

L2=[a,b,c,k,el.

84, repla_2(L1,A,S,L2)->L2Y A L1 DE
FALMOEZSTHEBZI DD TH 5,
repla_2 (L1, A, S, L2) : - listn (L1,1,A,MA),
repla_2 (L1, MA, S, L2).

{eg> L1=[40, 84, 6, 70, 115, 43, 68], A=115,B=
687 & %13 L2=[40, 84, 6, 70, 68, 43, 68].

85. reverse (L1,L2)-> VA FZs iz A FLO K&
VAMTH5B,
reverse ([], [1).
reverse ([X | Xs], L2) : - reverse (Xs, Ys),

append (Ys, [X], L2).
{eg> L1=[1,3,8,10,25,4,6]nk %i
L2=[6, 4, 25, 10, 8, 3, 1]

86. rotate (N, L1, L2)->L21i%Y A FL1 %2 NE &
L7bDTH5,
rotate (0, L1, L1).
rotate (N, L1, L2) : - L1=[H | T], N1 is N-1,

append (T, (H], LL), rotate (N1, LL, L2).
Ceg? L1=[1,2,3,4,5], N=20 & ki3
L2=(3,4,5,1,2].

87. same_lst (L1, L2, No) -2 2f8®» ) X FL1, 1.2
HFE CEFZE 2 FHO% 5No=0, % 5% 5No=1.
same_lst (L1, L2, No) : - mk_lst 3 (L1,12,L3),

ifthenelse (member (1, L3), No=1, No=0).
{eg> L1=I[1,3,5,3,4,1],L2=I[0, 3,5, 3, 4,1]
DL &iENo=1.

88. sampling (N, L1, A)-> AixYJ X bL1 ONZFEH
DEETH 5,
sampling (1, L, M) : - L=[Lx | Ly].M=Lx.
sampling (Nb, L, M) : - N is Nb-1,

L=[Lx | Ly], sampling (N, Ly, M).
{eg?> Ll=[a,b,c,d], N=3D¥& %ix A=c.

89. sig dbll (L1, L2)->¥%H) XA FL1 56 %FF 2
')A ML 2 OB,
sig_dbl1 (L1, L2) : - sig_dbl1 (L1, 0, (], L2).
sig_dbl1([], N, L2, L2).
sig_dbl1 (L1, N, LL, L2) : - L1=[H1 | T1],

N1lis N+1, LS=[H1, N1],
append (LL, [LS], LT),
sig_dbl1 (T1, N1, LT, L2).
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Ceg> L1=[75,49,47,41,52]m & &i%
L2=[175, 1], [49, 2],'(47, 3], [41, 4], [52, 51].

90. sig_dbl2 (L1, L2)->¥%V XA ML1»HAKXH
2 E) R FL2 DER.
sig_dbl 2 (L1, L2) : - sig_dbl 2 (L1, [], L2).
sig_dbl2 ([T2], L2, L2).
sig_dbl 2 ([H1|T1], LL, L2) : - T1=[H2 | T2],

LS=[H]1, H2], append (LL, [(LS], LT),
sig_dbl 2 (T1, LT, L2).
(eg> L1=[1,3,5,8,12,20]n & & i
L2=[[1, 31, [3, 5], [5, 8], [8, 12], [12, 20]].

91. sig_dbl3 (L1, L2)-> BHMEOEFZEOELK) X
FL126BXM 2 E) X FL2 DIER.
sig_dbl3 (L1, L2) : -sig_dbl 3 (L1, [], L2).
sig_dbl3 ([, L2, L2).
sig_dbl3 ([H1 | T1],LL, L2) : -

T1=[H2 | T2], LS=[H1, H2],
append (LL, [LS], LT),
sig_dbl 3 (T2, LT, L2).
(eg> L1=[1,3,5,8,12,20]m & &ii
L2=[[1, 3], [5, 8], [12, 20].

92. sig_dbl4(L1,L2,L3)->L3 %% Y X FL1
PO2EVAML2ERBELTERLA2E) R
FCH B,
sig_dbl4 (L1, L2,L3) : -

sig_dbl4 (L1, L2, [], L3).
sig_dbl4 (L1, L2, LL, L3).
sig_dbl4 (L1,L2,LL,L3) : -

L2=[H1 | T1], H1=[N1 | N1],

I1st_sub 2 (L1, N11, N2, LS),

append (LL, [LS], LT),

sig_dbl 4 (L1, T1, LT, L3).
sig_dbl 4 (L1, [], L3, L3).
{eg> L1=[40,97,49,43, 41, 40, 98, 49, 43, 41, 50,
40,52,41], L2=[[1, 5], [6, 10], [12, 14]]lm & &iZ
L3=[[40, 97, 49, 43, 41], [40, 98, 49, 43, 41], [40,
52, 4111,

93. sig_dbl5(L1,L2)-> L2 ZXFVAILIDE
EEFERICLA2EYVAMNTH S,
sig_dbl 5 (L1, L2) : - sig_dbl5 (L1, [], L2).
sig_dbl5 (L1, LL, L2) : - L1=[H1 | T1],

conv_2 (H1, L11), append (LL, (LL1], LT),
sig_dbl5(T1, L2, LT).
sig_dbl5 ([], L2, L2).

(egd L1=[klk2, k1(k2+k3)]In& &i
L2=[[107,49,165,107,50], [107,49,165,40, 107, 50,
43,107, 51, 411].

94. sig_dbl6(L1,L2,L3)->L3ik2>n ) X +L1
EL2DEEDOMENREIBEORT R EE LT
52BYAMNTH 5,
sig_dbl 6 (L1, 12, L3) : -

sig_dbl6 (L1, L2, [], L3).
sig_dbl6 (L1, L2, LL, L3) : -

L1=[H1 | T1], L2=[H2 | T2],

ifthenelse (H1 ¥==H2,

append (LL, [[H1, H2]], LT),

append (LL, [], LT)),

sig_dbl6 (T1, T2, LT, L3).
sig_dbl 5 ([], []1, L3, L3).
{eg> L1=[12, 20, 40, 97, 20, 15, 26], L2=[1, 20,
35,97,25,15,25]» & %13 L3=[[12,1], 40,35], (20,
251, [26, 25]1.

95. sub_lst1(Sub, L)-> " R FSubit) X FLOE
FIYVARNTHB,
sub_lst (Xs, Ys) : - prefix(Ps, Ys),

suffix (Xs, Ps).
(eg>VJ A FSub=[3,4,5]iV &2 FL=[1,2,3,4,
5,6,7,8]DFF VA TH 5B,

96. sub_I1st2(L1,R,N,L2)->L2iXV A FL1%R
HEEE LA ONEE 272D TH 5,
sub_Ist2(L1, R, N, L2) : -

rotate (R, L1, L12), Ist_sub 1 (L12, N, _, L2).
{eg> ' A FL1=(5,10, 20, 23, 30, 40, 50, 55, 601,
R=5,N=6" & % ixL2=[40, 50, 55, 60, 5, 10] T
Hb,

97. suffix (Suf,L)-> " XA FSufid) A FLO#ERE
HBThHsb,
suffix (Xs, Xs).
suffix (Xs, [Y | Ys]) : - suffix (Xs, Ys).

Ceg) Suf=[b,clid A FL=[a,b,cln#ERH
Thad,

98. sum_lst (L, Sum) -> Sum {3 ¥#H ) X FLOE
EDOMTH 5, :
sum_lst (Is, Sum) : - sum_lst (s, 0, Sum).
sum_lst ([1/1s],Temp,Sum) : - T1is Temp+1,

sum_lst (1s, T1, Sum).
sum_lst ([], Sum, Sum).
Cegd L1=[1,2,38,4]M¢& %X Sum=10.



